Geometry

Composite Rigid Motion

1) Translate AQRS if Q(4, 1), R(1, -2), S(2, 3)
by the rule T(_3'_4)
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3) Rotate ACAR if C(-1, 4), A(2, 3), R(-3, -2)
using the rule r(1g0° 0)
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2) Use AQ'R'S’ from problem 1 to

Rx—axis
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4) Reflect AC'A'R' using the rule
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5) Given ATAB where T(2, 3), A(1, 1), B(4, -3) 6. Given ATAB where T(2, 3), A(1, 1),

using the following transformation B(4, -3) using the following Transformation
(Rx—axis ° T(270°,0)) (T(—z,—1) ° Ry=2)
. e . . - -a e . .
6 ™ , ) 6 T( , )
5 AC , ) 5 A’( , )
! B(_ ., ) + B (., )
? Ts s(_)_) i T”L,_)
< >ATC ) JATC )
s 5 43 2 qlofl 12 3 3 5 6 B”( , ) 54 32 dio| 1 2 343 6 ’B”( ’ )
. .
_" )
7) Given AALT where A(-5, -1), L(-3, -2) 8) Given ATAB where T(2,3), A(1, 1), B(2, 0)
T(-3, 2) using the following transformation using the following translation
(Ry=—x ° T00,0)) (Ry=1°Ry=—1)
i A T, )
¢ A N A Aa ( , )
o L, (—,—) 5 B’ (—’ )
: TC_ ., ) .
2 ( ) ™C__._)
] A ) - A!’
LR t 1 ( 3 _) .
> L ( P ’ . P - BH( )
£ -5 4 3 240 1 2 3 4 5 6 T”( , ) <L B 4 5 5 0o T3 3 3 5 6 > 2
~ b
_ ( ”V

Write a single translation rule for the transformation from problem 8.



9) Identify the transformation(s) and if possible write the rule for the transformation
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Write each composition of translations as one translation.

10. T(_3'3) OT(_2'4_>

12 . T(S'_6) OT(_7'5)

11 T(_4_'_ 3)°T<3’1)

13. T(S’_ 2>OT<_4_‘9)

........

........

........

........

........



